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Jie 1 dagtiall de ganall ]
A={1,2,3,4,5,6,7}
Jie dagiin yuall de sandll.2
B={1,2,3,4,5,6,7, ...}

(@} Al de saadll 3

Jie Aelad! dc gazall.d
A={1,2,3,4,5}

B={3,4,5,7,8,9}

U={1,2,3,4,5,6,7,8,9}




de gazeall e ldasll

Ex :A={2,6,7,8,9}
B={3,6,9,10,11,13}
Cc={6,7,8,9,11}

Sol)

hlas JS a4

1.AUB={2,3,6,7,8,9,11, 13}

2.A NB= {6}

3.AUC=1{2,6,7,8,9,11}

4.AnC=1{6,7,8, 9}

5. A-B={2,7}

6.B-A ={3, 10, 11, 13}

o9 Sllabaseo
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EX:A={1,2,3}
B={4,5}

SOL)
AxB={(1,4),(1,5),(2,4),(2,5),(3,4),(3,5) }

B x A={(4,1),(4,2),(4,3),(5,1),(5,2),(5,3)}

AxB # BxA Ol Jodl s (e i




cS8130.1
A={1,2,3,4,5}
B ={2,4,5,6}
C={3,6,9,12,15}
A9
1. AnB 3.AUC 5.A-C 7.AUBUC
2.AU B

4. AnC 6.B-C




B={4,6,7,9,10}
1.AxB 2. BxA

’

A={4,6,8,10,12,14,16} ol u>,8l.2
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